Five Year Plans
Summary of Stalin’s Five Year Plan

Stalin modernised Russian industry through the 5-Year Plans. He achieved fantastic successes, but at an appalling human cost, and even while industrial output soared, the production of consumer goods remained static.

There were two Five Year Plans:

· 1928–33

· 1932–1937   

Reasons for the Five Year Plan

· Many regions of the USSR were backward. Stalin said that to be backward was to be defeated and enslaved.   ‘But if you are powerful, people must beware of you’ 

· Stalin believed that the USSR should ‘overtake and outstrip the capitalist countries’. He believed that if the USSR could become strong enough to survive, then it would take over the rest of the world. 

· He believed Germany would invade. In 1931, he prophesied: ‘We make good the difference in 10 years or they crush us’. 

· The 5-year plans were very useful propaganda – for Communism and for Stalin.   

1. Explain in your own words Stalin’s reasons for implementing the Five Year Plans.
How was the Five Year Plan Achieved:
· Plans were drawn up by GOSPLAN (the state planning organisation). 

· Targets were set for every industry, each region, each mine and factory, each foreman and even every worker. 

· Foreign experts and engineers were called in to offer support to Russian workers.
· Workers were bombarded with propaganda, posters, slogans and radio broadcasts. 

· Workers were fined if they did not meet their targets. 

· Alexei Stakhanov (who cut an amazing 102 tons of coal in one shift) was held up as an example. Good workers could become ‘Stakhanovites' and win a medal. 

· After the First 5-year plan revealed a shortage of workers women were attracted by new crèches and day-care centres so that mothers could work. 

· For big engineering projects such as dams or canals, slave labour (such as political opponents, kulaks or Jews) was used. 

· There was a concentration on heavy industry at the expense of consumer goods or good housing. 

· Stalin attacked the Muslim faith because he thought it was holding back industrialisation.   

2. Imagine that you are a reporter for Stalin and need to write a report of how the Five Year Plan would be implemented.

Results - Production levels rose dramatically:
 

	Source A
	1927 
	1933 
	1937 

	Electricity ('000 million kw) 
	5 
	13 
	36 

	Coal (million tons) 
	35 
	64 
	128 

	Oil (million tons) 
	12 
	21 
	47 

	Steel (million tons) 
	4 
	6 
	18 


Information has been taken from official government figures.   
Please note that historians have found that Stalin's statisticians overstated the increases by about a third - inspectors did not dare do anything else in case they were punished by Stalin!   It was the official line that Stalin had achieved a remarkable improvement, and a statistician who found otherwise would have been sent to Siberia. The human cost however was devastating.

3. Can you think of any reasons why Stalin’s inspectors would have refused to give him accurate details about the success of his Five Year Plans?

· Most western historians believe that Stalin’s plans were set to fail because he wanted to meet quotas that the Soviet Union was not equipped or skilled enough to achieve.

· Stalin believed that the only way to ‘modernise’ the country to the same level as other Great Powers was to push the people as hard as he could. He made memorable speeches to the Soviets to inspire them to work harder – he used veiled threats ‘follow my plan, meet my targets or we may be invaded and the Soviet Union destroyed’.

· He argued that the state needed to control industry for Five Years, push the people to make weapons for defense and herald the Soviet Union as an industrial giant in Europe.

· Everybody had a job under the Five Year Plan, even if they were employed in areas that they were untrained for, and many industries were overstaffed and workers were underemployed at work. The USA and Europe were suffering massive unemployment at this time and Stalin was happy to allow Americans to look around his ‘happy and employed’ country – proving that Communism worked.

· Soviet citizens felt a sense of pride in the Soviet Union even if their lives were extremely hard. Stalin told people that even though their lives were hard they would be even harder under the capitalist system of the West. Stalin was not bothered about how his targets were met so long as it looked as though the Soviet system of Communism was a success to both his people and his ‘enemies’ abroad.
4. Do you feel that Stalin was preparing Russia for the good of her people or for a war? Be prepared to justify your answer with selected information from above.

Successes and Failures of the Five Year Plan

	Successes
	Failures

	· The USSR was turned into a modern state that was later able to resist Hitler’s army.

· It created a genuine ‘Communist enthusiasm’ amongst the young Bolshevik pioneers.

· There were improvements in:

· New cities.

· Dams and hydroelectric power.
· Transport and communications.
· Moscow underground.
· Farm machinery.
· Electricity.

· Coal production.
· Steel production.
· Production of fertilisers.

· New plastics made.

· There was no unemployment in Russia.

· There were more doctors and medicine.

· There was better education.


	· The plans were poorly organised and often showed inefficiency, corruptions and a waste of materials.

· There was an appalling human cost:

· Severe discipline – sacked if you were late.

· The secret police observed your every move.

· If you criticised Stalin or Communism then you would become slave labour.

· People who made mistakes at work were sent to Labour Camps in Siberia.

· There were many accidents and mistakes in a rush to meet quotas, e.g. 100,000 people died when they built the new Belomor Canal.

· There were few consumer or luxury goods.

· Housing conditions were appalling as effort was put into production.

· Wages fell even though employment was high.

· Soviet citizens had no human rights – and Amnesty International did not exist!!!

· Some historians claim the tsars had done the ‘spadework’, setting up the basis for industrialisation, and that Stalin’s effort had very little effect on a process that would have happened anyway.  


5. Using the information above reach a decision regarding whether you feel the Five Year Plans were ultimately a success or a failure for the Soviet Union.

